
Practice 10.1

Name(s)___________________________________

Complete the ordered pairs so that they
are solutions of the given linear
equation.

1)  y = -x + 7; (4,    ), (7,    ), (0,    )

2) x + y = 7 (4,    ), (7,    ), (0,    )

3) y = 1
2

x - 4; (6,    ), (    ,-5)

Complete the table of ordered pairs for
the given equation. Then plot the
ordered pair solutions.

4) 3x + 2y = 6
 x  y
0

 0
1

-3

Complete the table.

5) 6x + 2y = 12
 x  y
0

 0
1

-6

1



Answer Key
Testname: M050_10.1WKS

1) (4, 3) (7, 0) (0, 7)
2) (4, 3), (7, 0), (0, 7)
3) (6, -1), (-2, -5)
4)

 x  y
 0 3
2  0
1 1.5
4 -3

5)
 x  y
0 6
2  0
1 3
4 -6

2


